Option B

LESSON 3 Quiz

Opening 1 of a Suit

1. What do you open with the following hands?

() (b) (c)
a AQ6542 a AJ52 a K2
v72 v J8 v AKQ2
* A2 ¢ A105 + J9875
& A92 & J1085 & 97

2. What do you open with the following hands?

(a) (b) (c)
a AKQJ9 A KJ65 A4
v?2 v KQ32 v Q9643
¢ A108532 *J ¢ K1082
&9 & A987 & AK2

(d)
A AJ952
v AQ862
¢+ K5
& 4

(d)
4 J9
v A107
¢ 107

% KQJ965

3. Partner opens 1% - what do you respond with these hands?

(@) (b) (c)
& A52 A Q105 a A2
v AK62 v K62 v Q962
+ A1085 + A1085 + KJ765
% 84 % 1032 % J5
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(d)
A 62
v 6543
+ KJ105
% A52
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(e)
a A52
v AK62
¢ AJ85
® 97

(e)
a AQ5
v38
¢ AJ1085
& A974

(e)
A A5
v KQ6
¢ J1085
% AK97



LESSON 3 Quiz
ANSWERS

Opening 1 of a Suit

1. What do you open with the following hands?

(a) (b) (c)
A AQ6542 a AJ52 A K2
v 72 v J8 v AKQ2
¢ A2 ¢ A105 ¢ J9875
% A92 % J1085 % 97

1a Pass le

2. What do you open with the following hands?

(a) (b) (c)
A AKQJ9 A KJ65 a4
v?2 v KQ32 v Q9643
¢ A108532 *J + K1082
%9 % A987 « AK2
le 1% lv

(d)
A AJ952
v AQ862
¢+ K5
® 4

(d)
A J9
v A107
¢ 107

% KQJ965

1%

3. Partner opens 1% - what do you respond with these hands?

(a) (b) (c)
a A52 a Q105 a A2
v AK62 v K62 v Q962
¢ A1085 + A1085 ¢+ KJ765
% 84 % 1032 ® J5

dv INT 3v
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(d)
A 62
v 6543
¢ KJ105
& A2
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(e)
a A52
v AK62
¢ AJ85
% 97

(e)
a AQ5
v38
¢ AJ1085
& A974

(e)
a A5
v KQ6
¢ J1085
& AK97



